Surname N Initial(s)
I?I?m Paper Reference ColTE A’i"LD Ly "
i Sipnature,
o 31810|/|2|F|™~rH Sernar

Paper Reference(s)

1380/2F Eseminers use caly

Edexcel GCSE mﬁ_@@weuﬂ
Mathematics (Linear) — 1380 L]
Paper 2 (Calculator) | ‘

Foundation Tier
Monday 1 June 2009 — Morning
Time: 1 hour 30 minutes

Materials required for examination Ytems included with question papers
Ruler graduated in centimetres and Nil

millimetres, profractor, compasses,

pen, HB pencil, eraser, caloulator.

Tracing paper may be used.

Instructions to Candidates

In the boxes above, write your centre rumber, candidate number, your surname, initials and signature.
Check that you have the correct question paper.

Answer ALL the guestions. Write your answers in the spaces provided in this question paper.

You must NOT write on the formulae page.

Anything you write on the formulae page will gain NO credit.

If you need more space to complete your answer to any question, use additional answer sheets,

Information for Candidates

The marks for individual questions and the parts of questions are shown in round brackets: e.g. (2).
There are 28 questions m this question paper. The total mark for this paper is 100.

There are 24 pages n this question paper. Any blank pages are indicated.

Calculators may be used.

If your calculator does not have a i button, take the value of 1 to be 3.142 unless the question instructs
otherwise.

Advice to Candidates

Show all stages in any calculations.

Work steadily through the paper. Do not spend toe leng on one guestion.
1f you cannot answer a question, leave it and attempt the next one.
Return at the end to those you have left out.

This publication way be repraduosd only in
Edexcel Eimited copysight policy.

dnne with
£2009 Edexsel Limited. Turn over
Printer’s Log. Na. B
N34680A H“N HW |\|’| |\||\ mﬂ W 'l" ||m Hm ”Iil M”m edexcel =
WESORIIR0/STFTO GAGHE N 3 4 6 8 0 A 0 1 2 4

advancing learning, changing lives




GCSE Mathematics (Linear) 1380
Formulae: Foundation Tier

You must not write on this formulae page.
Anything you write on this formulae page will gain NO credit.

fe—a—+
Area of trapezium = 1(a+ A
Volume of prism = area of cross section x length @,
]
L/_,\en%
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Answer ALLTWENTY EIGHT questions.
 Write your answers in the spaces provided.

You must write down all stages in your working.

1. (a) Write three pounds fifty pence in figures.

350

&3]
{b) Write three pounds five pence in figures. =
3.0
@
{c) Write three thousand five hundred and ten pounds in figures,
A51o
E
)

(Total 3 marks)

~
Leave
blank

~
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2. {a) Here is a nght-angled triangle.

R

Mark the right angle with a letter R.

(b) Here is a trapozinm.

£

Mark an acute angle with a letter A.

{c) Onthe grid, draw a kite.

]

(n

0

0y

(Total 3 marks)

Leave
blank
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3. {a) The point O has been marked with a cross ().

Dr: : :. H --k\"’\{.
raw a circle @Ih rid"mf Eﬁf and centre 0. .

e N

hY

/ \
Iij \
;‘f o 4w \
% R
i“‘:\ i
._\

\\

1)
(b) HMere is a circle centre C.

Draw a diameter in the circle.

1 Q3
(Fotal 2 marks) —‘]
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4 Cinema tickets
Adult ticket:  £8.65
Child ticket;  £4.90

Senior ticket:  £5.85

Tony buys one child ticket and one senior ticket,
(2) Work out the total cost, R+ 65
T 49D
t_ 285 |9+ 40
=19. 40 )

Stephanie buys adult tickets only.
The total cost is £60.55

{b) How many adult tickets does she buy?

£6.5S + %65 =T

Kamala buys one aduit ticket and two child tickets.
She pays with a £20 note.

(¢) How much change should she get?

| AdwdEE 845
Lenddy 410 2 = 980
76kl Iobua; A.-%0 +RLS = £18-45

I.S5S @)

" (Total 6 marks)
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Leave
5. The first even number is 2 e
(a) Write down the 3rd even number. é
¢4, 6 Ll
n
Here are some patterns made from sticks.
Patters number 1 Paitern number 2 Pattern number 3
(b} Complete Pattern number 4
Pattern number 4
1}
13
{¢) Complete the table. J—
Pattern number 1 2 3 4 5
Number of sticks 3 6 9 i s l‘ 5 ) X3
2)
Jenny wants to find the number of sticks in Pattern number 100
(d) Write down a method she could use.
e JO0 B 2 30D
o lalteon Number XD
ey 9}1
(Total 5 marks) }
4
‘A 0 IO 0 0 Turn over
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6.

There are only red, vellow, orange and green sweets in a bag.
Peter recorded the colour of each sweet in the bag.

The bar chart shows some information about his resuits.

14

12
Frequency

8
/
6' /,«-« /
. =
-

Yeliow (I)range Green

& sweets were orange.
5 sweets were green.

(a) Complete the bar chart,
@

(by ‘Write down the number of red sweets. 6

W

(c) What colour sweet is the mode?

(Whawest Frequeney) ] ellon)
(d) Work out the total number of sweets in the bag.

bl +3+5 = 21 9
(1)

(Total 5 marks)

Leave
blank
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7. Write down the name of each of these two 3-D shapes.

@ (ii)

Leave

blank

(Total 2 marks} l

8. (a) Write down the fraction of this shape that is shaded.
Give your fraction in its simplest form.

3
(b) Shade % of this shape.
[
1IN
g
Y]
(c) Write 1—30— as a decimal. " 5 < lU = O- 3 O b
ey
(d) Write 0.39 as a fraction. }j 2 A
[0S o —— 1DD(1) Q_S}
(Total 5 marks) J

9
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9.

{a) Measure, in centimetres, the length of the line AB.

Al % i B

g .
{b) Mark the midpoint of the line 4B with a cross { > ). a,l 215 e

blank

o o
(Total 2 marks) E
10. Sarah works in a post office.
She recorded the number of parcels posted on each of 16 days.
Here are her results.
. S - o D Y
g 6 &6 2 2 e o
(a} Complete the frequency table to show Sarah’s results.
Number of parcels Tally Frequency
2 NI T
3 L 4
4 | 2
5 | 1
6 I 2.
(2)
{b) Write down the mode. ’ Th\/‘})‘/\ ¢ 5{‘ F{Q-L\W.’V\ C‘a,
0
{c) Work ont the range. ( Pﬁ "4"2&’.15)

{Total 5 marks)
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Leave
11. You can use this rule to work out the cost, in pounds, of hiring a carpet cleaner. o
Muktiply the oumber of days hire by 6
Add 4 to your answer
Jilt hires the carpet cleaner for 3 days.
(2) Work out the cost.
IxtL +4 = 12>
22
@
Carlos hires the carpet cleaner.
The cost 15 £52
(b) Work out for how many days Carlos hires the carpet cleaner,
51 = fxd+4
52-4= 6d +4-4
4 @ — & d
d—= 48=6
-3
8 ................. days
@ |eu
(Total 5 marks}
or daﬁ& > X b6 54 552
3 ol
i1
0 O A Turn aver
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12, (a) |l|ll\II{IEiIIIIIII}iIIIIJiII
20 30 40 50

Write down the number marked by the arrow.

)
(b) |IJJI|III|IIIILilllllllll}'
100 T 200 300 400
Write down the number marked by the arrow.
o 130
(1)
(©) illllIIIlllILlIII||lII|I\\\
23 50 75 100 125 150
1o
Find the sumber 110 on the number tine.
Mark it with an arrow ( ). 3.15
1)
{
() |s||r||||t’|||||1|||1|||||\1l
0 0.1 028 T 030
Os 24
Find the number 0.27 on the number line,
Mark it with an arrow { 7).
1)

(Total 4 marks)

-
Leave

blank
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13.

i3

12

42

81

n

30

From the numbers in the rectangle,

(1) write down a multiple of 4,

(1) write down a factor of 21,

(i} write down a prime number,

e

.

(Total 3 marks)

cave
blank
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§
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Lcavc-\
blank
14. (a} Shade ome more square to make a pattern with 1 line of symmetry.
ey
@ o1
(Total 2 marks} :
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A 0 200 0 i I




X
Leave
blank

15. 36 students each went to one revision class.

—é of the students went to the physics revision class. 6 5 h) CLQ'V\/{'3 -
% s fodints -~

All of the other students went to the chemistry revision class.

2 ] .
5 of the students went to the biology revision class.

How many students went to the chemistry revision class?
| P,
§#3u135¢,é
Lo 36 - X267 1x4=%
7 s
C\nem{slwn = 36~ (é 'J"g)

) :36”14

(Total 3 marks) 7
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16. The table gives information about the numbers of fish i a lake.

Leave
blank

Fish Frequency A’V\ LiL ©
Perch ‘10 lpx 260 lo x5 500
Bream 23 27 Kr3‘:§f I x5 1o )
Cary ¥ vq Ao 3AX5 195
= Fa—
Draw an accorate pre chart to show this information.
Q16
(Total 4 marks)
1 .
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-
Leave
blank
17. Here is a cuboid.

Diagram NOT
accurately drawn

ST [T e
L4e 5

I’KC}’W\S)‘{./

T ‘/”‘ 6.5cm

3em K
* ,,/ . / \//D_,P,ULLL_( - /\'ﬁﬁ{ﬂ\ f)‘i .
+— 45¢cm ——» CNEse _C'E’(J’LDK

Calculate the velume of the cuboid.

...................................... cm? Q17

18. FF=18C+32

(a) Work out the value of 7 when C = —8

Fol:¥3x -8 132 - 17, 6

(b} Work out the value of C when F = 68

L% = 1.8C +32
£68-3L = .38 c 432L-32

06 = -8 2o
e % (Total 4 marks) 5

_
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19. Use ruler and compasses to construet the bisector of this angle.
You must show all your construction lines.

ﬁn,\ 6 'S \m sechor —

(Total 2 marks)

Leave
blank

g

20. Tania went to Jtaly.
She changed £325 into euros (€).

The exchange rate wag £1 = €1 68

(a) Change £325 into euros (€).

325x .68 = DL

When she came home she changed €117 into pounds.
The new exchange rate was £1 = €1.50

(b) Change €117 into pounds.

I+ = .50 = T3

(Total 4 marks)

9_20
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21. The scatter graph shows information about eight sheep.
It shows the height and the length of each sheep.

I 3

130 -

120

Length {(cm}

119

o1

100

%

Y

80

50

The table gives the height and the length of two more sheep.

55

o0

65 70

Height {cm)

Height (cm)

63

80

Length (cm)

100

110

(a) On the scatter graph, plot the information from the table.

16w

0

(b) Describe the relationship between the height and the length of these sheep.

fosiAve correlahon -

The height of a sheep is 76cm.

{c) Estimate the length of this sheep.

,{fmm‘-!«l/\x Lone ot lo-fzﬁ"fi -

1

R 1)1

@)
(Total 4 marks)

blank

Q21

i
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22,

9
/
/
@
i /‘
g /
L

(a) On the grid, draw an enlargement, scale factor 2, of the shaded shape.

@

blank

20
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N
Leave
blank

¥ A
5
i
- -+ 3 -2 -1 0 4 x
==}
D)

(b) Describe fully the single transformation that maps triangle A onto triangle B,

Y 3 5 — . - :‘
Reflechem. o X 2000 Iﬁuu'i) .......................
2) Q22

23. (@) Simphfy m-+m+m+m cr L'L
‘ m

(b) Simplify pxgxd

pq * 4 L*f’?()

At
(c) Expand 5(3x-2) - 5% 395 — 5x 2
15w - 1o
[Sx —]o
Y

(d) Expand 3p(v+4)
33 £yt 2 4 X 4 "
Byt iny 3y

(Total 5 marks) l




24. There are some sweets in a bag.

18 of the sweets are toffees.
12 of the sweets are mints.

(a) Write down the ratio of the number of toffees 1o the nember of mints.

Give your ratio in its simplest form, ~3 i 2. é;
Tof fees Mint @r(;( )

IB:?.
“5(()4)1 A

j v 7 ) SR SR

There are some oranges and apples in a box.
The total number of oranges and apples is 54
The ratio of the number of oranges to the number of apples is 1: 5

(b) Work out the number of apples in the box.

ofange: C&F\o«&_
145
S¢=-6=19

A-‘)'F\-ea ~ Hxq = 495

i+5= 6 {oarb»

{Total 4 marks)

Leave
blank

024

|

22
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Leave |
25. Sethina recorded the times, in minudes, taken to repair 80 car tyres. e
Infonmation about these times is shown in the table.
Time (¢ minutes} Frequency /VJ i CJ/PD“J n Tﬂﬂj ﬁ? L \I/‘L/LE)_
0<t<6 15 3 T 15
6<1< 12 25 q QX225
12<1< 18 20 15 15X L0 . ]fo*’*f”;fo
1I8<¢r< 24 12 2.1 2] X1 (’E)/’ﬂ] ]\JW‘A L%
24 <1< 30 8 2F | 2FX8 A / YU
Calculate an estimate for the mean time taken to repair each car tyre. > )
2 +2¥x8

315 + 3 X205 F15x20 + 210 X1

Hg AYL —

80 }\ 160 Froqwzmﬁ

/ 2'7?— minutes

{Total 4 marks)

LY

Q25

£t - Q 2
26. (a) Simplify 'x ¢ L= € ((:
8 9.3 5 (1)
® Simplify . 2 P = M 5
n
2!

(Total 2 marks)

O O A

23
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i e
(used a simple cond et fochon Jeme
- -~
27. (a) Work out 4'62+3'85
32°-651
Write down all the numbers on your calculator display.
@
(b) Give your answer to part (a} correct to 1 significant figure.
2}&1@5 =2 (1sf) Vol
. 0
{Total 3 marks) }
28. Here is a tile in the shape of a semicirele.
Diagram NOT
accurately drawn
r- 4 twe
*+————— fom ———»
s ~—
The diameter of the semicircle is 8 cm. P}Qrt AL ij/\/ - 2}lr -+ @ v
P

Work out the perimeter of the tile.
Give your answer correct fo 2 decimal places.

P“:. ﬂr+%
uUm +¥
[h-S6 &

- 2056 G P2 O&;Cid/f’
[ wh

{Total 3 marks)

wr—

T

}\j 8 E CUkd o Simpole TOTAL FOR PAPER: 100 MARKS
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